=
l"'l""l""l"

0 T8 16 1o 14 16 18 20

Pileup

D
D

g
Ne

DDODD

o0 =
TU
mm
—
o000
3333

N
Eﬁﬂﬂgé

d
ceccg
S=mmmH
R
I3/
0D |

a
cCcCcC
ITE
DD DDT
g

duuv
@an

d

n 0.021 . .
QL r i : i
D018 Do S ISETIoTt ST PR
© C : : :

.016F o R
£ : : :
-§).014j—
5.012F-
X

g 0.01-

I
a1

|IIII|IIII [*]=] uum
g
OQ:;
i . ...[ooooo
3]
oooo
m
mmmm
lcocoo
OO
=22
0000
NIORRO
lcooo
550

D.008F- 7 S S et 3o

O C O - 1

9 006F- O T e ]
- (/) E

) C
0.004
0.002

10
1.05 |- T

-
-
4
4
-

Ratio

0.95F |-+

"o 1 10 107 0° T2 T 0 1 23
b, (GeV)

il
K3

TTTTTTITI[TITT[TTTT ||||||I|
Ratio
=




	Contents
	Page 1


